Research  Methods : Exam#1 Answer Sheet



Multiple Choice


(2 pts each)





___D___








___D___








___A___








___B____








___E___








___D___








___D___








___C___








___E___








___B___








___D___








___D___














Short Response (5-8 pts each)





1  


It is a statement that indicates whether or not there will be a difference or relationship between conceptually defined variables.  Stating no difference in experimental research is a null hypothesis, whereas stating an expected difference and direction is a research hypothesis.





2  


Alpha level, sample size, DV variance, 1 or 2-tailed test/hypothesis, size of the mean difference.





3  


A construct is a belief thought to be a fact but in reality it has not been empirically tested.  Too often constructs are later proven to be false.





4  


The Chi Square test is a statistic used to assess the difference between one or more scores using % data, as is typical for survey responses.





5  


Matched assignment – subjects are matched on a selection of variables and then assigned (randomly is best) to groups.


Stratified Random Sampling – subjects from a population are identified, grouped based on one or more categorical variables (eg. gender, income, ethnicity, etc) and then randomly assigned to groups.





6  


Mean difference = 3.4; Standard Deviation = 3.5


Effect Size (d) = 3.4 / 3.5 = 0.97


Sample size for p<0.05 and Power = 0.8 = ~18





7  


An interaction occurs when one or more levels of one factor (IV) change differently across the levels of a second factor (IV).  In this example, an interaction would occur (a Soil x Moisture interaction), if either of the DVs (seeding or growth) responded differently to the different moisture conditions.


DVs = seeding and growth


Seeding=the number of seeds germinated after 14 days


Growth=the average vertical height of the grass blades after 21 days


IVs=soil type (s levels) and Moisture (4 levels)


You need to have drawn a 4 x 3 or 3 x 4 tabulation





8  


Sun exposure - needs to be equal  


Ground temperature – needs to be equal


Seed quality – needs to be equal for each seed batch used


Humidity – needs to be equal





9  


Seed germination will increase similarly for all soil types as moisture increases.


Regardless of moisture condition, grass growth will be greater for Soil C than each of A and B.





10  


Answer will differ for each individual.




















True/False


(2 pts each)








___F____








____F____








____F____








___F____








___T___








___T____








___F____








___T____








___F____








___T____




















Multiple Choice =   ….. / 24








True/False =        ……. / 20








Short Answer =     ….. / 56











       Total =        …… / 100








Name: ______ANSWERS______ 














